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Aggregate demand :

-

"

notional
"

demand : demand for consumption
• Computed by maximizing utility
subject to budget constraint

-

"

effective
" demand : demand for purchases y

transactions
• purchases > consumption because some

services must be allocated to

matching w/ sellers
• each visit costs p > 0 services

- aggregate demand : yd ( a ,p ) >
based

on transactions
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Aggregate supply
-

"
notional

"

aggregate supply :
k

•
amount of services that households
would like to sell [ at given price)

-

"

effective
"

aggregate supply : amount f
services sold given tightness

land price)
→ services transacted / traded
→

services sold given mattingstructure

→
notions of AD & AS are consistent :
both measure service that are traded

( so will be able to use equality of
AD & As at any time )

Expression for AS curve : selling probability
1

njlx.ie/--fln1.k--y' (a)
AS : amount of our 's sold given matching
structure & amount of our 's brought/ suppliedto the market by sellers ( households)
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not all

services are

sold : matching function governs # trades
AS
, matching

1 services

k

Both AD & AS curves represent traded/transacted
Ahvics .


